1 al: T assumption
2 hl: ¥x:T, x€[al+3,al+37] -» P x assumption
3 3 <=37 1in_solve
4 Vx:T, x€[al+3,al+37] » P x assumption
5 3 <= 37 A (Vx:T, x€[al+3,al+37] - P x) AL 3,4

6 3<=7AN(7<=37nAN7<=17)-VYy:T, y€[al+7,al+7] - P y apply[lemma2] 5
7 3<=7 lin_solve
8 7 <= 37 lin_solve
9 7 <=1 lin_solve
10 7<=37TN7 <=7 AL 8,9

11 3<=7AN(7T<=37TAN7<=17) AL 7,10
12 Vy:T, y€[al+7,al+7] - Py -e 6,11
13 z1: T assumption
14 h2: z1€(al+9, al+l2) assumption
15 3 <=37 1in solve
16 Vx:T, x€[al+3,al+37] - P x assumption
17 3 <= 37 A (Vx:T, x€[al+3,al+37] - P x) AL 15,16
18 3<=9 A (12 <=37 A9 <= 12) - Vz:T, z€[al+9,al+12] - P z apply[lemma2] 17
19 3<=9 1in_solve
20 12 <= 37 lin_solve
21 9 <=12 lin_solve
22 12 <=37 A9 <= 12 Al 20,21
23 3<=9 A (12 <=37 A9 <=12) AL 19,22
24 Vz:T, z€[al+9,al+12] - P z -e 18,23
25 z1€[al+9,al+12] - P z1 Ve 24

26 h3: al+9 < z1 assumption
27 al+9 <= z1 lin solve
28 al+9 < z1 - al+9 <= z1 -1 26-27
29 al+9 < z1 A 71 < al+l2 assumption
30 al+9 < z1 Aer 29

31 al+9 <= z1 -e 28,30
32 h4d: z1 < al+l2 assumption
33 z1 <= al+l2 lin solve
34 z1 < al+12 - z1 <= al+l2 -1 32-33
35 al+9 < z1 A z1 < al+12 assumption
36 z1 < al+l2 Aez 35

37 z1 <= al+l2 -e 34,36
38 al+9 <= z1 A z1 <= al+l2 AL 31,37
39 z1€[al+9,al+12] interval 38
40 Pzl -e 25,39
41 z1€(al+9, al+l2) - P z1 -i 14-40
42 Vz:T, z€(al+9, al+l2) - P z Vi 13-41
43 (Vy:T, y€lal+7,al+7] » P y) A (Vz:T, z€(al+9, al+l2) - P z) AL 12,42
44 (Vx:T, x€[al+3,al+37] » P x) -» (Vy:T, y€[al+7, al+7] > P y) A (Vz:T, z€(al+9, al+l2) » P z) -i 2-43
45 Va:T, (Vx:T, x€[a+3,a+37] -» P x) - (Vy:T, y€[a+7, a+7] » P y) A (Vz:T, z€(a+9, a+l2) - P z) Vi 1-44



